
  



I/ Booleen teste(entier a,b)   (3 pts ) 

debut  

si (a+b=0) ou (a*b=1) alors retourner vrai  

                                     sinon  

                                             retourner faux ; 

 Fin;                            

II/  Entier parfait( entier a )  ( 3 pts) 

Debut  

S 0 ;  

Pour i1 à a-1 faire  

                              Si (a i =0) alors s  s+i ;  

Si ( a=s) alors retourner 1 

                                      Sinon retourner 0  

Fin ;  
III/  Algorithme eclater ;  (6 pts ) 

Var   Entier t[50] ,t1[50],t2[50] ;             // déclaration 1 pts 

         Entier  i,j,k,n ; 

debut  

lecture(T,n) ;                                           // lecture d’un tableau 1 pt 

k=0 ;    j=0 ;  

pour i1 à n faire   debut                     // traitement 3 pts 

                               si (parfait(t[i])=1) alors debut  jj+1 ; t1[j] t[i] ; fin ;           

                               si (t[i] mod 2 =0) alors  debut  kk+1 ; t2[k] t[i]; fin;   

                               fin ; 

pour i1 à j faire ecrire ( t1[i]) ;                // affichage 1pt 

pour i1 à k faire ecrire ( t2[i]) ; 

fin. 

Fin. 


